
Thin. let G be a group and aEG
.
Then a has

a unique inverse
,
ie .

there is only one element

b EG St. ab -- ba = e .

proof : Sps b
,
and bz are both inverses . ( NTS :

*

since a has only one inverse
,
we can unambiguously denote it a

"
.

Thy (socks - shoes)

(ab)
- '
=

proof :

of a -

b
,

-
- bz .)

since both are inverses
,

ab
, = abz .

Mutt by sides on left by b , gives b.ab, = b.abz

which chiplies b
,

-

- bz
.

V
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Sps a
,
belts of a group G.

b-
'
a
"
.

took if x
multiply ab by b-

'
a
"
: is an inverse

y of g in group ,
( b-

' a'1)(ab) = ba
- '
ab check : does xg

-

- e ?
e- ( If so : yes, x -- g"= b- ' b

= e
.

So yes : cab5
'
= b-' a

"
.



Notation : Sps at G.

• aaa . - . a = he 12
,
h > O.

if

a mutt by itself n times

. a.
°
=

" Sps he 12
,
n
< 0

.
Then a

"

means

e.g . a-
2
= ( a- ' 12 -- a-' a- '

.

With this
,
we can regroup :

gnp =

But CAREFUL : In general , Ight
"

F

J t

(unless :

n
a

*

e (convention) (don't, write
\ a-

(a
-y

'"

( GDP = Igp)
"

ghh
"

ghgh - - - gh gg . - - ghh - - - h
- FT
n times

-mins times

gh=hg)



Finally , if G is an additive group (e.g . 12 or 12h) ,÷

we often write ab as and

- I

c. as because it's more natural .

e.g .
ab
'
a-

'
c would be written

atb

-

c

at 2b - a -1C.
-

btb


